                      Fluent in 5


Day 1
1 1.45x3 = 
2 7894 - _______ = 3858
3 ¾ x12 = 
4 65 x 23 = 
5 6 x 3 + 8 x 2 = 

Day 2 
1. 6 x 80= 
2. 6218 x 3 = 
3. 19 + 27 = 
4. 84 x 3= 
5. 981 + 34894 = 

Day 3
1. 
2. 569 x 8 = 
3. 654  100 = 
4. 87 – 29 = 
5. 50% of 120 = 

Day 4 
1. 675  6 = 
2. 604 – 176 = 
3. 76.439 + 67.842 = 
4. 18  2 = 
5. 654 = 230 + _____ 


Day 5 
1. 900 x 80 = 
2. 6549 x 3 = 
3. _____ =   x 25 
4.   x 2 = 
5. 650 x 4 = 
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Fluent in 5 Answers

Day 1
1. 1.45x3 = 4.35
2. 7894 - __4036_ = 3858
3. ¾ x12 = 9
4. 65 x 23 = 1495
5. 6 x 3 + 8 x 2 = 32

Day 2 
1. 6 x 80= 480
2. 6218 x 3 = 18654
3. 19 + 27 = 46
4. 84 x 3= 252
5. 981 + 34894 = 35875

Day 3 
  70 r 2 
2. 569 x 8 = 4552
3. 654  100 = 6.54
4. 87 – 29 = 58
5. 50% of 120 = 60

Day 4 
1. 675  6 = 112 r 3 
2. 604 – 176 = 428
3. 76.439 + 67.842 = 144.281
4. 18  2 = 9
5. 654 = 230 + 424 



Day 5 
1. 900 x 80 = 72000
2. 6549 x 3 = 19647
3. 5 =  x 25 
4.   x 2 = 128
5. 650 x 4 = 2600
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